WD TVRID'T YR YR Q°opw noon MIA AT TINHH 1y B

4a.6.3
18a (77 mawp) =2 19a (7797 01’D)

v7,7 8777 'Y DYR DYR RIN DYR

P, 270 190 BINYY N M2 R1Y KY NIRLN qDI) DYR q0I

72,75 2777 YT M 95 TR N 122 NI%Y DYYN YN D1 201 *9Y NI MYV MY 92 'R 1A7 092 1YY q0IN INY NR YTINN T2n0 9% 110 DnivIn
7,72 8771:'N2 MYR AIIRZ ONYY N2 N9E M2y N RN 5 AN

2,2 8777207 NP T AYR MDA ANIIR NR 1090 PVRN AMAY 52 5Y MNY,M ANYon ixnp Xon DYn pnp) 0050 IR 13 Y] AR

71,72 2777 RN N Y2 WYY ININN TR IR 10PN 7900 RN
»,2 201 TP RIMWD G0IN Y2 NR 0N MIHY D305 NHY DN N 173 WR RI22 P0 N300 Y38 INK 1021 NPT 90 2PN TR 11X 1050 YT npn
7,2 290N TP RIIND 902D 10 90 2993 207 19D Y2 NIIXEN NIPIN NI P2 NIAD ‘N N3 NYY &Y I8

L. 0 7WN (in printed »523, marked as 77257) 13 collection boxes in the wTpn (referenced in & nwn), each one marked:
a. pnn popr. from the new fund
b. ppony psprr. if he didn’t bring last year, has to bring %pw
c. 5w ssny prp. dispute mnan/nmin’ 1 as to how they are used
i. a7 7 prp are used to buy “older” birds; p1p — to buy younger — and all are my
ii.  o2pom prp are used to buy “nest” (MRoN+NYY) and n%W Y1 — all MY
1. A1 71 (8n73): they wouldn’t have box for namn »p, lest a nnn nron get mixed in
2. am77z if a woman declares 1p '9» ™0, she puts money into "0»p” and may eat »wTp (immediately?)
a. Reason: we know that the jn3 is zealous and will bring her offering right away
b. Note: the 102 does not have to be concerned about possibility of nnn nxron being mixed in (112372)
oyy: used to buy wood for nayn
71125 used to buy nnab
nmass anr gold to replate »w1p WP (referred to as "nad”)
71272 6 boxes for nam
II. y mwn (in printed »533, marked as continuation of 7 73vn): minimal gifts and use of funds put into 6 naT1 boxes
a. If. someone declares o3y *9y 11 — must bring at least two logs
i.  proposal: if someone declares yy '9» " (singular) — brings one log
1.~ support — 1 log is a 127p, as in re v779, we learn that 2 n1n3 bring 2 logs (1 each) to increase wood
a. In other words: a single log is a 127p
ii. 577 size of logs was the thickness of storekeeper’s eraser, the width was a “short” nnr
1. Reason: there was only 1 nnR for each of 110, 2220, 21373, 1P and NN
b. If: he declares that he will bring 12125, minimum is a ymp
i.  Source: vv. 4-5 (N19TR::NIITR)
1. Challenge: in v. 5 — there are 2 n¥np (1 of flour, 1 of "11%) — so here, too, should be 2
2. Answer(X®2N “7): N2 ymip for mian onY inferred from xvwn nnin (where there is no N2 >only 1 ymp)
a. Application: just as in R0In NNy, if the ymp is deficient, it is 9109, so too if 1 qra is underfilled, ) os
b. Application of 85’ 7. if someone offers to bring nnin, must bring enough n1na% for biggest 1n12’s ymip
i.  /pin ’1. even the size of the owner’s ymp is considered satisfactory
c. If:he commits to bring gold, must bring at least a ant 717
i.  &”7 only if he mentioned a minted coin; else, can bring the smallest piece of gold available
d. 737x was used to buy my; pelts would go to n2n3
i.  Based on: w31 of 102N Y1’ on vv. 1-2 — anything that comes for Xon (owR) — the funds are used for m»y
1. So that: both principles are fulfilled —'n% (meat) and p2n3% (pelts)
ii.  Note: symbolism of 6 M9 — corresponds to ar ’na of each 1wy, or different kinds of animals offered
1. Or: to 6 offerings where 1mn goes to NaT1 (D221 2P, MTHY 1P, MRON, MNVYR, MMIN, NPRN NVPVY)
2. Perhaps: reason for so many boxes is that this the greatest fund
iii.  Tangent: dispute in interpretation of v. 7 — if there was 1 nam given at that time or 2
iv.  Note: v. 6 indicates that they put that collection box “outside” — for the nn »&nv to be able to contribute
1. Alternatively: collection boxes were not made from collected silver >placed outside (not nw "2)
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